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CUur L L Ve DUl U e | b b | Figd)
\% A A v \' mA ;| mA mA n°
13000 | 1500 6000
10000 | 1500 6000
DCG 5/5000 EG  Phl 1 5 1 7 5000 | 1750 €000
DCG 5/5000 GB PhI 2 > 7 4600 | 4100 | 13000 3000 2
| 1750 | 1600 5000 3500 2
DCG 57500  Phl | 1 5 120 13000 | 1500 | 7500
DCG 10/15 Phl 3 5 20 30000 | 1500 ' 7500
20000 | 1750 7000
| 15000 | 1750 7000
DQ 5 BB 4 5 110 10000 | 1750 7000
14200 | 6400 | 20000 1750 1
‘ 7100 | 6400 | 20000 3500 2
ESU 400 ' Maz 2 5 125 14000 6000
( 10000 | 1400 4000
G 10/4 d ARG | 2 S 17 350 | 3150 10000 2800 2
G 20/5 d "AEG 3 | 5 | 19 20000 | 1500 5000
|
| | 10000 | 1500 6000
GXxu 3 EEV e s {4500 4000 | 10000 3000 2
RGQ 10/6 TIf 6 5| 75 10000 | 1500 6000
| L 12000 | 1500 6000
5 Q 105 MA 1 5 s 8400 | 3800 | 12000 1500 1
4200 | 3800 | 12000 3000 2
315-A CAmp 3 5 |10 15000 | 1500 6000
319-A Amp | 7 5| 675 7500 | 2000 8000
321-A Amp | 7 5 10 12500 | 2000 | 8000
; | ;
15000 | 1500 | 6000
10000 | 1750 7000
575-A Camer | 2 5 | 10 |j10600 | 4800 = 15000 1500 1
673 amer | 7 5 110 5300 | 4800 | 15000 3000 2
7000 | 3200 | 10000 1750 1
3500 | 3200 10000 3500 2
20000 | 1800 8300
15000 | 1800 8300
10000 | 1800 8300
14000 | 6300 | 20000 1800 1
::;; 'RCA | 2 5110 7000 | 6300 | 20000 3600 2
RCA | 7 5 10 110600 | 4700 | 15000 1800 1
| 5300 | 4700 | 15000 3600 2
7000 | 3200 | 10000 1800 1
3500 | 3200 | 10000 3600 2
Equivalents
AG 575 A AEG = 575-A G30/5d AEG = DCG 10/15 } WTT-104 amer = 575-A
ESU 575  Maz — 575-A RG5-1500 Mul = DCG 5/7500 375-A  amer = 575-A
ESU 673  Maz = 673 RG 10-1500 Mul = DCG 10/15 875 A  Tay = S575-A
FS75A  Fed = 575-A RG 205 T = G 20/5 d 975-A  amer = 575-A
G10/6 i  AEG = RGQ10/6 | UE975-A amer = 575-A 975-T  amer = 575-A
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